Mean Spectrum

76 e A s
T T T T T T T 1T ] T T[T rrr[rrrrr
LN—- [ ' 1 ' [ I- oo
e Lo : C o
\ '
E ' e - ' o NI
o ' v ' ' o -
[ ' [ ' 1 ' L ! IIAVG
I .
~ ' " ' o , 11 cont
)
= ' Fe2
o o ' o )
v ' 4 g BLR
o
s A . ML NLR
ol oA
1 1 1Y/ I SRR BEEA O A bl |

1500 2000 3000 4000
A (&) z = 150705

RMS Spectrum
rm476 BLR 8400 NLR 800 km/s

fa (107" erg em™2s7'47")

A (R) z = 1.50705

x(\t) = ( Data — Model A ) /o x
x%/(411030-4957)=1.205=>1.007
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Continuum Lightcurve
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u = —0.03(32) x = 0.974(23) => 0.974(23)
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